Progress Test 2 – Working Capital Management
Question 1

Cedrus Co is a small company that supplies lubricants on credit to large engineering and manufacturing companies. In recent years, the directors of Cedrus Co have found the management of trade receivables to be an increasing burden. As a result, the directors are now considering using the services of a debt factor.
Required:
(a)
Explain why the efficient management of trade receivables is important to a business.
(4 marks)
(b)
Identify and discuss the main elements of trade credit policy and explain why small businesses may find each element more difficult to manage efficiently than large businesses.
(8 marks)
(c)
Outline the advantages and disadvantages of Cedrus Co using a debt factor to help in the management of its trade receivables.
(8 marks)



(20 marks)
Question 2
CBA Limited is a manufacturing entity in the furniture trade. Its sales have risen sharply over the past 6 months as a result of an improvement in the economy and a strong housing market. The entity is now showing signs of ‘overtrading’ and the financial manager, Ms Smith, is concerned about its liquidity. The entity is 1 month from its year end. Estimated figures for the full 12 months of the current year and forecasts for next year, on present cash management policies, are shown below.
	
	Next year
	Current year

	Income statement
	$000
	$000

	Revenue
	5,200
	4,200

	Less:
	
	

	Cost of sales1
	3,224
	2,520

	Operating expenses
	650
	500

	Profit from operation
	1,326
	1,180

	Interest paid
	54
	48

	Profit before tax
	1,272
	1,132

	Tax payable
	305
	283

	Profit after tax
	967
	849

	
	
	

	Dividend declared
	387
	339

	
	
	

	Current assets and liabilities as at the end of the year
	

	Inventory/WIP
	625
	350

	Receivables
	750
	520

	Cash
	0
	25

	Trade payables
	464
	320

	Other payables (tax and dividends)
	692
	622

	Overdraft
	11
	0

	Net current assets / (liabilities)
	208
	(47)

	
	
	

	Note:
	
	

	1. Cost of sales includes depreciation of
	225
	175


Ms Smith is considering methods of improving the cash position. A number of actions are being discussed:
Receivables

Offer a 2% discount to customers who pay within 10 days of despatch of invoices. It is estimated that 50% of customers will take advantage of the new discount scheme. The other 50% will continue to take the current average credit period.
Trade payables and inventory

Reduce the number of suppliers currently being used and negotiate better terms with those that remain by introducing a ‘just-in-time’ policy. The aim will be to reduce the end-of-year forecast cost of sales (excluding depreciation) by 5% and inventory/WIP levels by 10%. However, the number of days ’ credit taken by the entity will have to fall to 30 days to help persuade suppliers to improve their prices.
Other information
· All trade is on credit. Official terms of sale at present require payment within 30 days. Interest is not charged on late payments.

· All purchases are made on credit.

· Operating expenses will be $650,000 under either the existing or proposed policies.

· Interest payments would be $45,000 if the new policies are implemented.

· Capital expenditure of $550,000 is planned for next year.
Required:

(a)
Provide a cash-flow forecast for next year, assuming:
(i)
the entity does not change its policies;

(ii)
the entity’s proposals for managing receivables, payables and inventories are implemented.
In both cases, assume a full 12-month period, that is the changes will be effective from day 1 of next year.
(14 marks)
(b)
As assistant to Ms Smith, write a short report to her evaluating the proposed actions. Include comments on the factors, financial and non-financial, that the entity should take into account before implementing the new policies.
(6 marks)



(Total 20 marks)
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